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1. If consumers try to save more, they will actually save no more (and no less) if:
the investment function slopes upward.

the investment function is horiziotal.

the investment function slopes downward.

the saving function slopes upward.

none of the above.
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2. A 1 percent increase in the price of good X results in a 2 percent increase in the quantity
demanded of good Y. A 1 percent increase in the price of good Y will result in an increase
in the quantity demended of good X that is:

a. 2 percent,

1/2 percent.

more than 1/2 percent.

less than 1/2 percent.

indeterminate from the information given.
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3. The most important method used by a central bank to influence bank reserves is:
changing legal reserve requirements.

issuing new government securities.

open market operations.

changing the discount rate.

none of the above.
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4. If the average product of labor equals 4 iyrf, vhere L is the amount of labor employed per
day:
a. labor always is subject to diminishing marginal returns.
b. labor is subject to diminishing marginal returns only when L is
greater than 4,
c. labor is not subject to diminishing marginal returns.
d. labor is not subject to diminishing marginal returns when L is
greater than 4,
e. none of the above,

5. A country’s economy consists of two industries, one perfectly competitive and one
monopolized. To improve the allocation of resources, it is likely that:
a. the output of the competitive industry should be reduced.

the output of the monopolistic indusry should be increased.

both a and b.

neither a nor b.
a tax should be imposed on the output of the monmopolistic industry.
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6. In order to support its currency, a government would be least likely to:
enter the market and buy its own currency.

increase defense expenditures abroad.

limit the travel abroad of its citizens.

. curb imports.

. none of the above.
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7. If there is high unemployment, the government should not:
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10.

11.

12.

13.

.
reduce taxes.

decrease government expenditures.
enact tax credits.

change depreciation schedules.

do any of the above.
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Suppose that the aggregate supply curve is P = 20Q, where P is the price level and Q is real
output (in billions of dollars). If the aggregate demand curve shifts from P = 105 - Q to

P =115.5 - Q, the price level will:
increase from 100 to 105,
increase from 105 to 115.5.
increase from 100 to 110,
increase from 100 to 115.5.

none of the above.
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If a firm has no fixed costs, it follows that:
the firm would cease production if price were less than average total cost.

. average variable cost equals average total cost.
c. average variable cost achieves a pinimum at the same point that average total cost

achieves a minimum,
d. all of the above.
e. none of the above.

Neither GNP nor NNP takes account of:

a. depreciation.

b. services produced.

¢c. the social costs of environmental pollution.
d. all of the above.

e. a and b,

During the inflation of the late 1970s, government receipts tended to:

a. rise because the nation’s taxpayers moved into higher tax brackets where the average tax

rate was higher,
. fall because Congress reduced tax rates to offset inflation.
c. rise because more receipts were needed to pay the higher interest costs on the national
debt due to inflation. ‘
d: remain constant.
e. none of the above.
1
Which of the following relationships is a direct one:
The relationship between consumption expenditure and disposable income.
The relationship between saving and disposable income.
The relationship between saving and the rate of interest.
The relationship between consumption expenditure and population,

All of the above.

a.
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Price tends to exceed marginal cost under:
a. monopolistic competition.

b. monopoly.

c. oligopoly.

d. all of the above.

e. none of the above.
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14, Consumption expenditure is likely to be lower (holding disposable income constant) when:

a.
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income is more equally distributed.

interest rates are higher.
the public has many liquid assets (government bonds, etc.)

all of the above.
none of the above.

15. If a tax of 10 dollars per gallon is imposed on gasoline, all of the tax is paid by
consumers if:
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the supply curve for gasoline is vertical.
the supply curve is upward sloping.

the demand curve for gasoline is vertical.
the demand curve is downward sloping.

the demand curve is horizontal,

16. Under a regime of fixed exchange rates, if the rate of inflation is
higher in Japan than elsewhere:

a.
b.
c.
d.

e.

Japan's exports and imports will fall,

Japan’s exports and imports will rise.

Japan's exports will rise and Japan’s imports will fall,

Japan's exports will fall and Japan's imports will rise.

Japan’s balance of payments surplus will become larger or its deficit will become

smaller.

17. If marginal cost is less than average cost, then with increased inputs the average cost
of production will tend to:

a
b
c.
d
e

. rise.

drop.
stay the same.

. none of the above,
. all the above.

18. The major purpose of legal reserve requirements is to:
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19. An
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20. According to "supply-side” economists, the aggregate supply curve can be shifted

control interest rates.
control the money supply.

-avoid simultaneous contraction,

satisfy demands in case there is a "run" on the bank.
none of the above.

upvard shift of the aggregate demand curve will not result in:
an increase in both the price level and real output.

an increase in the price level but no increase in real output.
no increase in the price level but an increase in real output.
an increase in the price level and a decrease in real output.

none of the above.
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a. higher income taxes.
b. more regulation of industry.
c. a higher inflation rate.
d. lower income taxes.
e. none of the above.
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1. To push the economy toward a higher level of employment, Keynes was skeptical of the use of
the government’s power to spend and tax,

2. For both the monopolist and the perfectly competitive firm, profits are maximized by
sctting Lhe output rate at the point where marginal revenue equals marginal cost.

3. I1f a $5 billion downward shift in the consumption function results in a § 15 billion
reduction in the equilibrium value of NNP, the marginal propensity to consume must be 1/3.

4. The most important determinant of saving is the interest rate. If it is high (low), saving
'will be high (low).

5. If country A uses 20 percent less of all inputs to produce every good and service than
does country B, there may be no advantage in two-way trade between these two countries.

G. The balance of payments accounts always balance.

7. If the velocity of money is increasing at 2 percent per year and the economy’s potential
real NNP is growing at 3 percent per year, the money supply should grow at 6 percent to
maintain a constant price level.

8. There are legal reserve requirements against time deposits, but they are hisher than those
against demand deposits.

9. The Lorenz curve plots ‘the percentage of people, going from the poorest up, on the
horizontal axis, and the percentage of total goods and services consumed on the vertical
axis.

10. If the price of a unit of capital is equal to the price of a unit of labor, a cost-
minimizing firm will choose a combination of inputs where the marginal product of capital
minus the marginal product of labor equals zero.
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